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General marking note:  

1. Give full marks for answers only, unless otherwise stated. 

2. Accept any alternative correct solution that is not included in the memorandum.  

 

Question Expected answer Marks 

1 286 1 

2 

2.1 40 or 4 Tens or 4T 1 

2.2 700 or 7 Hundreds or 7H 1 

3 70 1 

4 
             
638; 658                                               Note: Give 1 mark only if both are correct.  1 

5 675                                    1 

6 

6.1 

    200 + 20 + 5�                                               

+  100 + 70 + 3                                                    

    300 + 90 + 8     = 398�                               

Note: Give 1 mark for correct method and 1 mark for accuracy of answer.  

For answer only, give full marks 

2 

6.2 

                 �                  �                 �                  
70 – 30 = 40;  40 – 7 = 33;  33 + 2 = 35          Note: For answer only, give full marks 

                        or            

                   12  –  7 = 5  

          and   60 – 30 = 30   
Therefore   72 – 37 = 35                                  Accept any other correct method  

3 

6.3 

                �                �                     �                  
30 x 5 = 150;  5 x 5 = 25; 150 + 25 = 175        Note: For answer only, give full marks 
 
                         or 
 
                      5  x 5   = 25  
          and     30 x 5 = 150 
Therefore     35  x 5 = 175                                     Accept any other correct method 

3 

7 37 1 

8 56 1 

9 
     �     � 
54 ÷ 6 = 9                                           Note: For answer only, give full marks 2 
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5 7 

8 4 

2 10 

1 11 
12 

3 

6 

9 

Question Expected answer Marks 

10 
             l          l           l          l            (3rd

 box) 

              ¼           ½           ¾           1 
1 

11 

11.1 

(2 x R1,50) + R1,00 = R4,00 � 

     � 

R5 – R4 = R1� 

3 

11.2 
          �    �          � 

R3,40 – R1,75 = R1,65 
3 

12                                     ���� 1 

13 

13.1 

 
 
 
 
 

1 

13.2 

 
 
 
 
 

1 

14 

 
Note: 2 marks for 6 triangles  

1 mark for 4 to 5 triangles 

           

2 

15 

                                                �The hour hand drawn between 7 and 8.  

                                                �The minute hand must be longer than the        

                                               hour hand and point to 6. 
2 

16 18 months 1 

17  4 glasses  1 

18 15 cm 1 

19 

19.1 7   1 

19.2 Kim 1 

19.3  140cm 1 

19.4  Accept an estimated answer between 100cm and 120cm, e.g. 110cm                        1 

19.5 Pat 1 

Total 40 

 


